1973
80 500
5
(LEAN PRODUCTION)




D

2)

(Job Rotation)

3)

?”“

?”



D

2)

1.01)

(

1.01

T © O T ¢ % O

3)



D

2)

3)

aim

(CIP)






AN A~~~

D

C
8 b B B[]0
8 o | L]

B

A

1
2

% o la |||

oo o o _la_| 3

« Joa la la o4

| Ja_Ja_lo_lee5

L[ Ja Ja 86
LI L)L e 887

O (ke g

&

o

10

15

20

2.02

2.02

3)

2)

D
4)

5)

D



o O T 9

3)

1.03

( 1.03)

O O O T 9

“58”



D
2)
3)

4)
5)
6)

D
2)

MRP(Material Requirement Plan

/

1.04

1.04




3)
4)

1) e
2)
3)
4)

1
2)
3)
(CIP)
CIP
CIP
KAIZEN
CIP

Continuous

CIP

CIP

13
1.05

CIP

CIP

Improvement Process
( 1.05)
5 6
11 12

CIP



CIP

CIP CIP
CIP
CIP 12
CIP
CIP
CIP
CIP
CIP
CIP
CIP
CIP
CIP
CIP
CIP CIP

CIP CIP CIP



10.

11.

CIP

CIP

CIP

CIP

CIP
CIP

CIP

CIP

CIP

CIP

CIP

15



D

2)

3)CIP

4)CIP 10 83%.

. | I |
R 2 R 7
Re— = 3 Re= = 3
i m
T -~
—-
i) 1.06
2) 2a 2b

220



130
3)CIP 2a 2b 180

4)CIP 35% 14.3% 15.4%.

1.07
3- [ X ] »>
1) 1.07
2)

32 720
33,000 9 /
8.65 39,000

3)CIP

4)CIP 13% 25%



TEAM ““TEAM>~

TEAM
“X 9
“Y 9
TEAM TEAM
5-12 TEAM TEAM(5
8 ) TEAM
TEAM
TEAM
1. TEAM
2. TEAM
3. TEAM
4. TEAM
5.
1.
TEAM TEAM TEAM
2.
TEAM
TEAM (
1.08)

TEAM



w

B B TEAM



TEAM

TEAM

TEAM
1.TEAM
1.10

1.10

TEAM

TEAM

TEAM

TEAM

TEAM

TEAM

TEAM
TEAM

TEAM

TEAM

TEAM



TEAM
D
2) e .
3) e s
4)
5)
6)
TEAM TEAM
TEAM

TEAM

TEAM

0o N o o B~ W N

TEAM
_TEAM
TEAM TEAM (
.11) TEAM TEAM TEAM
TEAM TEAM
1
2)
3) TEAM
4) TEAM
5)  TEAM
6)  TEAM

7

1.11 TEAM

TEAM TEAM
1) TEAM
2)  TEAM
3)  TEAM
) TEAM
5) TEAM
TEAM

1) TEAM
2) TEAM



3) TEAM
4)
5)
6)
)

TEAM

TEAM



N o/

)
)
) ® & E s c 7
)
PDCA
PDCA Plan( ) Do( ) Check( ) Action(
PDCA

PDCA

PDCA

PDCA A



4M

(Man)
(Machine)
(Material)
(Method)



£c >3

£c >3

“58,,
“58’,

“58”

(39)

“58”




cepgns
QC
QC

1509000

1509000

1509003 1509004

GB/T19000

1509000

159000

10

1509001

1509000

1509002



“58”



0 80
80 90

D@

4)

A

®)
®)

60<

80

90 100 C

100

60=



D
2)
3)
4)
5)
6)
7)

10 20
100



b)

P

Cpk)
(Cp

(49
(LCL)

)

(ucL



D

a X-R
X-R
C. X-Rs
2)
a. Pn
b. P
C. c
d. U
1)
2)
3)
4) ( ) 2
)
5)
X-R X R X-Rs R Rs

S=1tr



TPM

50
1/3

Preventive Maintenance

Productive Maintenance
1 2 Breakdown Maintenance
Preventive Maintenance 4 Corrective Maintenance 5
Maintenance Preventive

PM TPM
o ce
TPM TPM
TPM
TPM
TPM
TPM TPM

TPM



TPM
TPM

LCC Life Cycle Cost

TPM



1 1
> ><100
—————————————————————— ><100
>
————————————————————————————————————— ><100
> > =100

20



20 0.5/ 0.8/

----------------------------------- <100
(460) (20 20 20)
---------------------------------- <100

460
=87 >
--------------------------------- <100
0.5><400
--------------------------------- <100
400
=50
------------------------------------ <100
400 8
----------------------------- <100
400
” =< 100
0.87>0.5>0.98><100
~42.6

M 8
TPM 8 “ TPM

400



TPM

o

=l

BEmE AW e
L=y

Sll—2 =
Y —

P
v 9

- m
o

B B

Ik




15014000

TPM

TPM



PM

PM



4“

BRI~ T

oV b

AR BRI B R R



cc XX EE )






TPM

5S

PDCA



